Problems: Concentration ing/L | 9ST

1. Which of the following has the stronger concentration:
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2. What mass of solute is needed to prepare 300 mL of a 40 g/L aqueous solution?
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3. What mass of solute is needed to prepare 500 mL of a 30 g/L solution?
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4. What mass of sugar do you need to make 300 mL of a 5 g/L sugar solution?
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. HOW many grams of solute are needed to prepare 250 mL of 10 g/L HCI

solution?
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6. What volume of solution do you prepare if you dissolve 30 g of solute and make
a 4 g/L solution?
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7. What volume of solution do you prepare if you dissolve 20g of solute and make a
2 g/L solution?
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| 8. What is the concentration in g/L if 200 g of solute is in a 500 mL solution?
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